
O 

7/16-20 X 2-1/4" Hex Hd Bolt, 
Lac Washer, Hex Nut 

O 	 

1928-1929  

Hole 

BODY BLOCKS 

Hole Hole 	Hole 

•••■•%-seaao•  

■sassvo 

3/8-24 X 2-1/4" Hex Hd Bolt, 
Loc Washer, Hex Nut 

Hole 0 	 
3/8-24 X 2-1/4" Carriage Bolt, 
Flat Washer, Hex Nut 

0 	 111 
3/8-24 X 2-1/4" Carriage Bolt, 
Flat Washer, Hex Nut 

IL 

O 

7/16-20 X 3" Hex Hd Bolt, 
Loc Washer, Hex Nut 

e 

 

O 

-4411:111■-  

 

1928/1929 Coupe, Sport Coupe, Bus Coupe 

Service and Repair 1 -25 



Hole (3 Hole 	Hole 0 

3/824 X 2.114' Hex Hd Bolt. 
Loc Washer, Hex Nut 

Hole 0 	 
3/8-24 X 20/4" Carnage Bolt, 
Flat Washer, Hex Nut 

3/824 X 2-114• Carriage Batt. 
Flat Washer, Hex Nut 

Hole 

7/16-20 X 2-1/4' Hex Hd Bolt. 
Loc 'Washer, Hex Nut 

7/16-20 X 2-1/4" Carriage Bolt. 
oc Washer. Hex Nut 

1828  

7/16-20 X 2-1/4' Carnage Bolt 
Loc Washer, Hex Nut 

Hole 

7/16.20 X 3' Hex HO Bolt. 
Lac Washer. Hex Nut 

Hole 

1928/1929 Roadster/Phaeton 


	Page 1
	Page 1

